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" " ha ha 070 ha ha 050 m m &S min m3/sec m3/sec  m3/sec %o m/sec m3/sec
AC-1 0.08 008 070 208 208 050 280 28 7.2 0.023  0.436  0.459 HP ¢ 500 18.00 2.580 0.506 & 1.102 522100
AC-2 AC-5 0.78  0.86 0.70 208 0.50 179.4 207. AC-1 8.2  0.248  0.428  0.676 HP ¢ 600 18.00 2.914 0.824  1.219
AC-3 0.11 011 0.70 2.0 21. 7.2 0.032 0.032 EHEE@300  20.00 1.935 0.137  4.281  EEAIE
Ac-4 0.50 0.61 0.70 120.0 147, AC-3 8.1  0.176 0.176  &ER G400  20.00 2.344 0.295  1.676  EE&AIE
AC-5 AC-7 0.199  1.66 0.70 208 050 62.8 270. AC-2 8.6  0.475  0.426  0.901 HP ¢ 700 15. 00 2.948 1.134 | 1.259
AC-6 0.80 0.80 0.70 100.0  100. 7.7 0.233 0.233  HERG400  20.00 2.344 0.295  1.266  EEREIE
AC-7 AC-9 0.60 3.06 0.70 208 050 72.0 342 AC-5 9.0  0.871  0.423  1.294 HP ¢ 800 13.00 2.999 1.508  1.165
AC-8 .32 1.32 0.70 60.8  60. 7.4 0.386 0.386 HP ¢ 500 20.00 2.720 0.534  1.383
AC-9  AC-15  0.78 516 0.70 208 0.50 88.5 430. AC-7 9.5  1.456  0.419  1.875  HP¢1000 8.00 2.730 2,144 1.143
AC-10 1.5 1.58 0.70  1.80  1.80 0.50 25.0 25 7.1 0.464  0.378  0.842 HP ¢ 700 15. 00 2.948 1134 1.347
AC-11 0.35 1.93 0.70 1.80  0.50 53.5 78 AC-10 7.4  0.564  0.376  0.940 HP ¢ 700 15. 00 2.948 1134 1.206
AC-12 0.24 217 0.70 1.80  0.50 71.4 149, AC-11 7.8  0.630  0.373  1.003 HP ¢ 700 15. 00 2.948 1134 1.131
AC-13 0.57 274 0.70 1.80  0.50 77.4 227. AC-12 8.2 0.790  0.371  1.161 HP ¢ 800 12.00 2.882 1449 1.248
AC-14 0.27 301 0.70 1.80  0.50 63.2 290. AC-13 8.6  0.862  0.368  1.230 HP ¢ 800 12.00 2.882 1449 1.178
AC-15 0.38 855 0.70 3.88 050 73.0 503. AC-9 9.9 2,308  0.777  3.175 BOX1200x1200  5.00 2.936 3.736  1.177
AC-16  BEs®-1 013 8.68 0.70 3.88 050 58.0 561. AC-15 10.2  2.423  0.774  3.197 BOX1200x1200  5.00 2.936 3.736  1.169
BEER-1 8.68 0.70 3.88 050 151.0 712 AC-16 10.8  2.400  0.766  3.166 BOX1000x 1000  12.00 4.009 3.508  1.108  #hE#h
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" " ha ha 070 ha ha | 050 m m &S min m3/sec m3/sec  m3/sec %o m/sec m3/sec

BD-1 0.90 090 070 512 512 050 90.0 90.0 7.5 0.263  1.067  1.330 HP ¢ 800 13.00 2.999 1.508  1.134 3204080258
BD-2 BD-6 0.58 1.48 0.70 512 050 135.0 2250  BD-1 83  0.426  1.053  1.479 HP ¢ 900 10. 00 2.846 1.811 1.224

BD-3 0.05 005 070 1.76 1.76 0.50 23.0 23.0 7.2 0.015 0.369 0.384 HP ¢ 450 20. 00 2.535 0.403 = 1.049 440:0.200.88
BD-4 0.58 0.6 0.70 1.76  0.50 49.8 72.8  BD-3 7.5 0.184  0.367  0.551 HP ¢ 600 18.00 2.914 0.824  1.495

BD-5 0.90 1.53 0.70 176 0.50 63.3 136.1 BD-4 7.9  0.443  0.364  0.807 HP ¢ 700 15.00 2.948 1.134 | 1.405

BD-6 0.62 363 070 6.88 050 140.3 365.3  BD-2 9.2  1.030 1.394 2424  HP¢1100 7.00 2.722 2.587  1.067

BD-9  BD-10 245 608 0.70 6.88 050 231.0 596.3  BD-6 10.5  1.689  1.365  3.054  HP¢1350 6.00 2.888 4.134  1.354

BD-7 0.80 0.80 0.70 79.5  79.5 7.6 0.233 0.233 HP ¢ 400 20.00 2.344 0.295  1.266

BD-8 1.06 1.86 0.70 93.7 173.2  BD-7 81  0.537 0.537 HP ¢ 600 18.00 2.914 0.824  1.534
BD-10 2.06 10.00 0.70 6.88 050 91.8 6881 BD-9 11.1 2,752  1.352  4.104 BOX1400x 1400  3.50 2.728 4751  1.158  OFIME
BD-11  $7E¥BOX  0.20  10.20  0.70 6.88 050 150 703.1  BD-10 11.2 2,802  1.350  4.152 BOX1500x1500  3.50 2.858 5.723 1378 JAIETE
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